2 308 2,

b 1-3 ZIHAHBRERER

TH1 SEXNRLES
L K> B
SHE TS -

(1) 4x - 5x°=

@) (-~ exp=

L 2> BEEAxSER

HE TSR -
(1) 2x(x—5)=

(3) (2x+1)(—5x)=

LG SHEASHER

SHELTHIE -
(1) (—5)(x+3)=

(3) (x—1)(2x*—x+1)=

L KD BRENSEATE

SHELTHIE -
(1) x—1)(—+3)=

(2) (4x+5)(2x>2—x)=

(3) 2x2+3)(—5x+2)=

@) (— 5 - 8x=

1t i

e

HHESRA - P.34 4 1

(@) 7x - (— D=

(2) —3x(x—4)=

HIFERRA : P.35 ] 2

(4) Bx+5)(—4x)=

(2) (—2x+3)(x—4)=

HIFERA : P.36 13

(4) (—3x+1)(6x—5)=

(4) (bx—1)(—x2+3)=

IFERRA © P37 5 4



FIFRTRE AR SRR

MR EATGTE M= -
(1) (3x+1)2=

(3) (245x)2=

(5) Bx—1)(Bx+1)=

i 2 ZIEANRIEESR
1. 6> EER- B,
SE IR -

(1) (8x%)=(4x?) =

(3) (15x?)+(—5x)=

LK) SEREES,

KTHIEZ T PRAR P U ER A -
(1) (9%*+12x —3)+(— )=\ Ay

(2) (9%%+ 6x+ 15)=(3X)HIRG = A

(3) (6x+4x3)+(—X) IR B

(4) @x+1)* 20k o

(5) (32X +8x)+(4xX) ARG B

(2) (Bx—3)°=

HERA : P38 {5 5

(4) (4—3x)*=

(6) (1—9x)(1+9x)=

(2) (—6x3)+(—2x)=
(4) (—18x%)+(10x%) =

HFESRA © P.39 4R

I ESRA ¢ P41 5] 6



1.8 $ER-FEAGBRRA—KR)
KT S ER AR B -

(1) (¢ —ax+T7)+(x+2)H S » BREUSY

(2) (¢ —3x—10)+(x—5) =1 » BRTURY

(3) (9%*+17x+T7)=+(3x+ A)HypH = By » BRTUSY
(4) (—8x*—3)+(2x—1)HypE=z » BRTUSY

1K $ERFEABRR KR
KT SRR AT R B -

(1) ¢ +3x+9)+(2¢—x+3)iyp=R_ - erkk_
2 C+x+1)=(+x—1avpEth_ o E8RXE_ -
B) B+ D)+(—x+x)HymEa_ o ERER

(4) @+3x+T)+@+3)ph_ el -

L A0 BRA—mER+ SR

1 R —EZETE AR x—4 #ypg=0 x+5 0 870 6

2. WR—(EZTE B BRI 2x+3 AYpsH=Uy 2x—1 0 g5=0R—8

HEERA - P42 5] 7

HIFERRA - PA3 1] 8

HIFERA : P44 19

ACKIEEZ A -

ACKIEEZIHF(B -



L AD ERA—mR -+ BR

EFERA @ P45 5] 10

1. ERIZIER 2¢—Tx+9 RS —EZHA A% - SERER 2x—3 - 835 3

ACKIEEZ A A -

2. DUISIET HC+x+2 [ —ESIE B % - AFRt B x+1- 55 5t

SKIEEZIHAB

T8 3 HAER
L D SRS

HE TS -
(1) (x—3)?+(2x—1)=

(2) 2(x—5)>*—3(x+4)=

(3) (—x+6)2—(x—4)(—x+3)=
(4) 8-+5(x—1)>+2(x+3)=

L KD BEARREA

1 TETHE—EEESEES

1)

2Xx+3

X+2
x—1

3X+7

2. K THISEHIRICRIETE
1) |

HIFESRA : P46 {71 11

S ERRA - P.AT ] 12

aa LA X (Y ZIEA R FF125 B Y R B s -

(2)

3x

X+2

X
46




